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Revised Answers (Master Set)

guERger e wiadyf w wle |
FRRUEHCH

The suprascapular nerve innervates muscle.
Infraspinatus

CT AT 5 §aT &l HU (S38hies §S) A 718 7
— 1000 .

What is the HU value of air in CT imaging ?
—1000

YR o e it et (@eHTEs §) € -
The largest sesamoid bone in the body is :
Patella

T U B8 SR et Sufeer sl d 2
IgA
Which immunoglobulin is present in breast milk ?

IgA

5 URGXEE A WO 9 A 8T Wﬁﬁwﬁﬁw%mg@mﬁm% ?
wiferet :

Which component in X-ray tube is pnmarﬂy resp0n51ble for conh olhng the size of the X-ray field ?
Collimator :

6. T U iT F I TT CT aﬂfiﬁﬁwﬁww%
= FE T anftheaed

The CT artifacts produccd due to heterogeneous X-ray beams are called :
Beam hardemug artlfact" :

7.
8 Td i GWm?ﬁT w%ﬁ%mﬁwmaﬁ% ?
: How many pairs of ribs are typically found in the human body ?
- 12 pairs
9, ﬁmﬁwr‘@ﬁﬁﬁrﬁ?mmmﬂﬁw A Fel§S WIS T (59 Soff &3 wferat) Sooet 7ef war @ 2
FULL MARK
Which one of the following MRI pulse sequences does not produce fluid suppressed images ?
FULL MARK
TY9 . L i MASTER SET
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10.

Tt e & e A W faeat danss frea e
AgBr

The silver halide crystal used in emulsion of X-ray film is :
AgBr

11.

frefefiaa & g ferge sygim e faeemt & vfaas Osmafea) s d s g o
FULL MARK

Which of the following is used as a preservative in developer solutions ?
FULL MARK

12,

et (St fat el Bt 8 9
12 — 14 Bt

What is the length of the pharynx ?
12 -14 em

13.

ﬁaﬁmmaqﬁw%wmﬁmmmﬂ)mw&mmmmh

T THT

The scattered radiation during a diagnostic X-ray examination arises mainly aS‘;gel r’c}siﬂtr' f.:
Compton effect b

14.

fara Tl SugEd o & qof fifer
el T TS U v1eg & foma ST st
ERIEIGE

TR, T
Fill in the blanks appropriately : )
Shoulder dislocation is a term often used ‘to

humerus; scapula

R L r e,

ate dislocation of the head of the from the glenoid of the

15.

freafefar & A e A TR A 8 7

Which of the folloi;vmg_.___is pi;og_iug_écf—%}g,M1 ochondria ?

16.
17, aﬁ'—r wmﬁﬁﬂﬁ%uﬁmwﬁﬁﬂsﬁa% ?
A i mm
Wh1ch organ is least sensitive to radiation ?
~Nervous tissue
18, Efaur s & ST deAmmiha w3 freftta & ¥ wie-ar g (o) wite 78 gar 2
REMEN)
Routine radiographic examination of the injured wrist does not include which of the following view ?
Sunrise
TY9 £ %
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19,

AT T 3k fafereer STifan a1 v e o for et S foe et & STeRtor &7 s o ST 8 9
Tew aw

What type of device is used to monitor individuals in order to determine their radiation exposure ?
Film badge

20.

T TATE o HEAThT i T J-STTHh fafer 3
EIO STCETHIR 6T

A non-invasive method of evaluating blood flow is :
Doppler ultrasonography

21,

ﬁ’:r%rﬁa?rfrﬁaﬁ:rﬁmwaﬁmﬁﬁﬁﬁ%%ﬁ%ﬁmﬁwm%mmmw%? ,
UeEE T IR AT 6T ST AT

Which of the following measures is commonly used to reduce patient exposure during ﬂuoroscop ;
Utilizing pulsed fluoroscopy

22.

ferfepear & sy RS 9@ Co-60 & TTafies S AT &I 8 :
I IR E T

The primary emission from Co-60 used in therapy is :
Gamma rays

23.

Tieger Il 3 SR TSI e ot e el g =R
20 Hiex

The minimum length of the exposure cord during mob]le radlography should be:™
2+0 metres A -

24,

Yiet-aehl SRThI & ot ¥ Frfafad § g fia-ar et g 0
TFUH A Bre wr Uyl
Which of the following is correct about Potter- Bucky dlaphragm ?

It is an apparatus of moving grid. -

25,

e e i de i e T
waweH

layer is the bondmg layer bet
Substratum

n thg ,ése and the phosphor layer in an X-ray film.

26.

The process o'fm surmg and ?\ié'rify'mg the radiation dose delivered to a patient is known as :
Duslmetry g :

27;,}'_'.-1:,1%*i%1ﬁsﬁﬁrrrﬂ ﬁ@'—hﬁ@r% e &7 T AT 2

- bt forer A

k2 . 7]'11 d1g1ta1 Lmagmg, what does the term “window width” refer to 7

The1 range of pixel values displayed

28.

et e st (R § e S BT R 2
AT AT, TAT =1, ThHerd HET, &AT

What is the order of chemical baths in manual film processing ?
Developing, stop bath, fixing, washing

TY9
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29, TheR foead SRR SwT e
ToheH gHETH & AT (FTUEUITE) ST T

The fixer solution treats :
The unexposed particles of the film emulsion

30,  AcgEevs i ¥, frefaiad § 8 SF-a1 S 96T TS & wwifad wtar g 2
AREVIEIEICT

In ultrasound imaging, which of the following factors affects the depth of penetration ?
Frequency of the transducer

31 TSI e g TR § 7
=l
Phlebography is a contrast study of :
Veins

32, frafafea 3 @ wlv-ar 78 6 vl @ wRors 2
ot T AT

Which of the following is a cause of renal calculi ?
Lack of water

33, UEg-t el & Yeror & fae et a9
30°c &+

What is the ideal temperature for storing X-Ray films ?
Below 30°C

34, UEHdEE @%W)Wﬁﬁm%ﬁﬁ@aﬂq-wmmﬁmﬁm% ?
R O

Which of the following components in an mtensxfymg screen is hght—sensnwe ?
Phosphor layer 3

35 H-HIEER mvﬁ)ma@%ﬁﬁmm%mm% ?
ﬁ"i"“_" =

Which suture separates the
Coronal suture '

""-The ball- céfcher view of the hand is used for the evaluation of :
“-Rheumatoid arthritis

TY9 fa*

MASTER SET




38, WETee-60 F AN A Aefafaa d & s-mr e 22
TR e eatargatey

Which of the following is incorrect about Cobalt-60 ?
Natural radioisetope

39, g & g wiaateg T ar 9
STEHTHATIT (ICRP)

“Ten day” rule was postulated by :
ICRP

40. T T e THING qET () 9aT S HE ST
TS T
The gray matter on the surface of the brain is called ;
Cerebral Cortex

aL. fifele & & w-ar e aegd (ﬁrﬁwﬁ@ T HEHT T @ o T e W 2 2
Fegmite ufveals @aa (UTE)

Which of the following sequences is best for visualizing cortical bone structure
Ultrashort echo time (UTE)

42, UHIARSTS & Goof F unaRe: g avf & 9
Fryfeew Wine tfmeiardy
What does “MRA?” stand for in the context of MRI ?
Magnetic Resonance Angiography

43,

A graphical recording of the electri al a ,e_:];q}:é in the brain is called :

Electroencephalograp!__;y.

aa. A R s Py R A e e 8

Which cells secrete the matrix for bone formation ?
Osteob!_a_s_gs =t e

46, ﬁ‘:' ﬁiﬁa?rr i war e <R e g WY H AT AT 2

8 ECEES
Which of the following day is celebrated as “World Radiography Day* ?
8th November
TY9 rH* MASTER SET




47.

L131 91 - AT FA 8
8t

The half-life of I-131 is :
8 days

48.

Tonereh So=IR # e qendier @1 SUENT AT 8 2
Ca WHST

Gating technique is used in the treatment of :
Ca lung

49.

TR T et {1 =i o offer 9 a3
T R it Tt

Air gap technique maintains the gap between which two things ?
Image receptor and the patient

50.

Fen ¥ SIS (fBY Sa1$e) % STAuTa T way war AR weaq e f
TRTAEIRA

The longest and strongest ligament around the hip joint is :
Iliofemoral

51.

T A | e a&mmﬁw@waﬁvwﬁﬁwﬁﬁ%

The leukocyte (white blood cell) that has the highest count'm'adult blood is.:
Neutrophil 2 =

52,

m@A)ﬁR%%ﬁumﬁﬁwﬁwwﬂ-ﬁmw%:

The centring in PA chest radiograph is done for the level of :

'Iﬂ1 thoracic vertebra

53.

Orthopantomograplhiy is usej- _for
Dental X-ray -

54.

ﬁmﬁmf%mﬂﬁww%
Wﬁwﬁ?wm (PA)

l ﬁ'actulc is:

The best-view. of aph

PA wi ulnar deviation

55. W(ﬁﬁ'ﬂ) _ _:mwmww%?
B, SR e
,t what vertebral level is Larynx found ?
-~ C3-Cé6
56. T teanmfeen aetes @t afifefeet amera & e & fog ot 7w Ferwmars
T TR
Which radiographic technique is called the gold standard for assessing orbital trauma ?
CT Scan
TY9 *6E

MASTER SET




57:

ey heet faad gafm & 0
g o T W h aTadl gget (feaw)

Colles fracture is associated with :
Radius

58.

i vgaet ara Wit § Frefafad & 9 - Tarfe vlwar & g 787 farsmar s 2
THIRATS

Which of the following diagnostic procedure is nof indicated in a patient with artificial pacemaker ?
MRI

59.

Tl T/ =IGTs o HTTER Wt ot qaife hl &el ST s ;
awe (o)

CT table movement per gantry rotation/collimation width is called :
Pitch

60.

37t et ot Rl o arg ST AT forwiss e o Higde Feand @ ;
e ol
The modules of lymphoid tissue found in the walls of the intestinal tract are known as =
Peyer’s patches =

61.

g S i ad & fore frfemeelia w3

The medical term for pain in multiple joints is

Polyarthralgia

62.

B-F'gff\f FHEARTHRE ;
The four types of bones are :
Long, short, flat, irregular

63.

“Glisson’s Capsule’f;is’isgeg in the :
Liver : S

64.

~ One gray. is

wh- e
100

65

5. e g efedt e e B 2

S 206

What are the number of bones in adult humans ?
206

TY9
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66. fr=fafan & & @F-dt ofsre fafl smuee § #riw 8 0
st doit (afeerss )
Which of the following encryption methods is employed in RSA ?
Public key
67. Frafufigs i & w-ar w@e=nfad e wfoeft afta 3= wafaferdt oiv div aemfierar wer oo & fog e femm mar 2 9
Which of the following is designed to provide high scalability and fault tolerance, including automatic data replication? - -
HDFS 5
68. e 3 freafeafier o & foer w3 dhret s Strava W St wet % e sravs aeem el g
Which of the following part of a processor contains the hardware necessary to perform all the 'obératiousf required by a
computer ? c B e
Data Path
69.  eTeET et for sergy e w9 W et ST a8 2
YfEay e (STuw) qi
What does Bluetooth primarily use to transmit data ?
Radio Frequency (RF) waves i :
70. Wt osda srad, 9 wefieht it TH AT TS O o o1 febr fere Y

6
How many bits are required to encode all t\f\{enty-six letters, én symbols and ten numbers ?

TY9
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72.

freforiad fetie aat o 3ie e qea Sevar o e hifsre
fere I faw 1

(1) omTaedt @) STt s Tt fearsEt @ o $ie qo de o sl e R |

@) dawdt (b)  SeETEel T T I Tarell il GHEld i VeIt we o o Swi fepam ST € |

() HEAMSH  (c) WA AT AT SN A U G 3R T TH H H wErEar war g |

@) @A (d) U RS SR S TE H I HH R A L | - -
(1)~ (@), @) - (), B)~ (@), D) - ()

Match the following Internet elements to their respective main purposes : =
List] List II

(1) IMAP (a) Allows users to access their emails from different devices.

(2) Web Server (b) Used to store and manage websites and other web services

(3) Cable Modem (c) Software or service that helps find and retrieve web p:a'g_es.
(4) Search Engine  (d) A hardware device that allows Internet access. . e

Option :
1 - @), @ -®),3)-@,®-@©

73,

fewtia & fadta yoa wear & {6 ©@ NAND 12 U saes
OR

gafe.

74.

The concept of “stored-program architecture”

hich greatly influenced modern computing, was first articulated by which of
the following pioneers ?

John von Neumann :. -

75.

W%mﬁfrpowmwaﬁ%v
wmﬂwéﬁ '

What does. POST stand: for in the context of computers ?
Puwer-On Se]_f Test

76.

mﬁﬁwmwwm%ﬁww%mwm%w%mﬁwm%‘r

N

;Whiph of the following is a lightweight process that can run independently or as part of a process ?

*Thread

TYY
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71.

H@AT0000 1111 0010 1101 FT 1's HifFwTie (T0H) FTE ?
1111 0000 1101 0010
What is 1°s complement of

00001111 0010 1101 number ?
1111 0000 1101 0010

78.

AT IeIhTe 78 A w8 o Zrafir o < $ie (s € 2 e
EUATH o T TAUASHT (SMTP over TLS) =

Which protocol ensures that emails are encrypted during transmission ?
SMTP over TLS

9.

Wa‘éﬁﬁmﬁf@ﬁﬁéﬁmaﬁwwwﬂn%mﬁvﬁﬁﬁm#@zmﬁaﬁ@ﬁaﬁwﬁaﬁmmmﬁ%m

e ST @ 2
e Wt _

Which of the following features in MS Word is used to combine data from a database mto a

multiple personalized copies ?
Mail Merge

___i)late document to create

80.

THUH e 3 97 = ROUND(5.678, 2) T AT & ?
5.68 B )
What does the formula = ROUND(5.678, 2) return in MS Excel ?
5.68

81.

I TR AT U et AT 2 B
Which is the State Bird of Uttar Pradesh ? =
Sarus Crane :

82.

Freaferfie i & Ty S wERIRG: <
TR I — ST :

Identify the incorrect pair from:th
Rameshwar Shukla — Agmgm blm

83.

%ﬂﬂw%wwmmwﬁmuﬁmmﬁ ST e 2
Wemgamd -

Which orgamsahon hosted the 6["h edl[l(m of the Uttar Pradesh Health Summit in Lucknow ?
cI .

84.

'hich ¢ the V_f('ﬂlowi_ng cities is a major center for the production of Aluminium ?
" Renulkoot

85.

Wﬁwzmmw@ﬁﬁﬁmm?

13 ST, 2025 T 26 WA, 2025

Maha Kumbh 2025 will take place at Prayagraj from :

13 January, 2025 to 26 February, 2025

TY9
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86, ST BT SR Uk UG — Ueh Seurs AT ot aed =me] ol 7 off 2
2018
The ‘One District — One Product’ scheme was launched by the Government of Uttar Pradesh in the year :
2018
87, ST RN ok fmaad IRt ot uik ¥ qd o el A R
FULL MARK
The correct sequence of the following districts of Uttar Pradesh from West to East is :
FULL MARK
88,  frfataa o firam fif :
arer forer
(1)  efear @ @
@) b ) g
()  Hawrd (iii)  wErET
4) e (iv) @R
oo :
(D) — (i), (2) - (iv), (3) - (iii), (4) - @)
Match the following : 2
Dam District
(1) Adwa @) Jhansi
(2) Deori (i)  Mirzapur
(3) Keolari (i) Mahoba -
(4) Pahari (iv) Sonbhadra :
Options :
(1) — (i), 2) — (@v), (3) - (iii), (4) - (1) s
8.  freffad 3§ &4 @rw#waﬂtmﬁﬁ 7%
HAEH e
Which of the following dances 01‘igf ate
Kathak
90. ﬁwﬁrﬁaﬁﬁﬁaﬁqmmaﬁﬂﬁ%ﬁ#ﬁ%?

UGS T — ACS =
Which of the. _f(_)_}lowmg_ Paus 1s.:_in correctly matched ?
Mehtab Bagh - ,I;éiquO\v

TY9

11 ¥
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91, IR YR H ! o it vl i e Fifo ;
L 9 fatshe
L 9y
IO RCREEIRREICRY
IV. gaererg foer
faremed
FULL MARIK
Identify the UNESCO World Heritage sites in Uttar Pradesh :
I Varanasi River-front
. Sarnath
I, Kashi Vishwanath Temple
IV. Allahabad Fort
Code :
FULL MARK

92. T WRW AT 18at e @ ¥ Tee & 0 A waawALq o e T T 2
HTeT FETT

‘Who was unanimously elected as the Speaker of 1§ Legislative AssémblyééﬁUitﬁtPiﬁd'esh 2
Satish Mahana

93, TifdT T U YR STY FEl AT ?
foadt

Where is the Govind Ballabh Pant Sagar Damrlli)c;q@ed ?

Pipri

o4, I RN H v Anea e el et R
AUTET
Where is Diesel Locomotive Woiks factory in Uttar Pradesh located ?

Varanasi

TY9 w12 % MASTER SET




95.

frfetas @ fiem fifse
qee fora
(1) TG T e @ el
() WaEs GEHd feafeEmer (b) GG
(3)  wdaTe TEe TN st gedT © @ )
(4) e qy-Ferfenear aTgEeT der @) WS &
reea : s
1) = (), ) — (b), 3) — (d), (4) — (a) _Hy
Maltch the following :
Institute District

(1)  National Sugar Institute (a) Bareilly
(2) Bhatkhande Sanskriti Vishwavidyalaya (b) Lucknow
(3) Motilal Nehru National Institute of Technology (¢) Kanpur
(4) Indian Veterinary Research Institute (d) Praygag_r_arji
Options : -~

1)~ (©), 2) —®), @3) - (@), 1) - (a)

96.

ARTUTHL .
The first ‘Deendayal Hastkala Sankul’, a trade facilitation c_enh‘e-, ié;":l'o__c_:_g_t;f;rd at:

Varanasi

97.

e AT i YT AT ST ot e O AT 3 e a2

Shankargarh area in Uttar Pradesh is _r_gnqwﬁ&iior its h

Silica sand

98.

Which Mughal Emperor is_t__c_:_rr_gadited__-,wfi_j:]i' founding the city of Fatehpur Sikri in Uttar Pradesh ?
Akbar -

99,

- The famoi poet Armr Khusrau belongs to which city ?

100.

Tl . s e e i b e e PRV B I T T R

|
As a part of the Varanasi — Pandit Deendayal Upadhyaya Multitracking Project, a new rail-cum-road bridge is to be built
across river.

Ganga

TY9
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